Q.No. 7

Obtain a relation between | s
veen heat of reacti
coefficient of emf of (oo po. reaction. AH, measured emf and temperature
e Yeacton Q.No.9 Explzin why HaPO; is dibasic while HyPOy is a tri basic acid.
) ’

¢
1
)
: M

o .
b
'

— - » i i i extracting a solute from an

perive Oibubem squen : ) \ QNo. 10 Show that multiple extractions are more-efficient in g
= ) organic solvent into.aqueous phase.
£
€2MIN AL LIBKAR: . -
Deptt. of T s
VR

A

Scanned by CamScanner



o

T — N ! v
! Q.No.3 Write down the mechanism of reaction igvolved in ninhydrin test of proteins/ peptides i \ QNo. s
f |
!

v

/ i

/

Co *

- . £
QNo.4 . . Explain the biological signification of Ca®* and Mg?* essential element
QMNo. 6
Q

A.4.U.. bligark

Draw labeled orgel diagrame of [Ti Fs] and [Ti Fe]*. Write electronic transig
corresponds to 10Dg. . ition thyy

Calculate the zoefficients of sp?— hybrid orbitals .
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 pt _ in the
Mohr method of titration? ™ -

a. In more acidic solution, the
chromate ion (indicator)
concentration is too low near the
equivalence point

b. In more alkaline solusions, silver
oxidc precipitates

c. Solubility of silver chloride is less
than silver chromate in pH of 6-10

d. Both A and B

Which of the fﬂl—l—mmnr
pH of about 6 (0 10 is maintained )

| L

50%4 of a solute from an aqueous
solution is extracted to ether wh

volume—of - both— -
What would be the percent extraction

when the volume of the ic pi i
o organic phase is

a. 100
b. 90.9
c. 66.6 :
d. 249

69. | Which of the following is not the source
of method crror?

Slight solubility of precipitate
Impurities in reagents

Incomplete reactions

Effervescence and “bumping” during
sample dissolution

a0 o

70

Which of the following statement is

NOT true about the Beer-Bouguer-

Lambert law (Commonly called Beer’s

law)  for  the  absorption  of

monochromatic radiation by a sample?

a. Power of the transmitted radiation
decreases exponentially as the
thickness of the absorbing medium | ~
and concentration of the sample
increases arithmetically

b. Infinite concentration of the sample
and thickness of the absorbing
medium are required to absorb ali -
the radiation 1

¢. Absorbance by the sample is directly
proportional to the thick.ness‘ of the
absorbing medium znd . \

concentration of the sample

__l_f/, 4. None of the above _

o
) LRY

| - e

s s equab{———

Q.No. |

QNo.2

Discuss the relative basicities of pyridine, piperidine and pyrrole.

What is meant by mutarotation? Write down mechanism of mutarotation in D-(+)-
glucose
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Na® > K* >Rb* >Li* >Cs*
K* > Na' >Li* >Rb* »Cs*

80 o

| b
4] 'I'in;” ‘oimnplexes 42 The correct IUPAC nomenclature for
[Co(NH;) NO;)Cl; and [Co (NH;), the complex (PhsP); RhCl is
ONOJCL, are (he a.Tris (triphenyl phosphine) rhodium
_ chloride
a I_mkagc Isomers b. Chloro tris (tripheny! phosphine)
b. Coordination 1lcomers rhodiuin (1)
¢. lonization isomers ¢ Tris (triphenyl phosphine) chloride
d. Do.ble salt rhodium (jii) )
d. Tris (tripheny| phoéphi.ne) rhodium
S : _ (i) chloride
43. | The Ground term for Mn*" ion is 44. The CFSE for low spin octahedral d”
, configuretion is
a. (.S a. 0.8
b 3 o. 1.2
c. ‘D
d, 4F C. 04 AO
d 0
45. | The complex [Ni (DMGH),] where 46. The biologically significant
DMGH = dimethyi gloximato used in organometallic complex also a vitamin
analytical determination of nickel known as cdenzyme By, possesse
exhibits the geometry a. Plastocyanin :
2. Square planal b. Corrin ring
b. Trigonal bipyramidal ¢. Porphyrin ring
¢. Tetrahedeal d. None of the above
d. Octahedeal
47." | The correct binding constant of 48, Ethylene iz bonded to PiCl5 in zeise salt
hemoglobin for Oxygen is represented K[Pt Cl, (C:Hy)) )
best in equation a. n’- hexahepto ligand
a. t= kpz"afl +kp?* b. 1’ - pentahapto Ligand
b. 'ftpf/';'kpk . ¢. n’-dihapto ligand
; := kﬁo Sfl:kso; d. 0’ - trihapto ligand
49. | Atseveso, [taly the disuaster in July 1976, | 50. COD removal efficiency is 90% in case
was due to of
a. DDT a. UASB Technology
b. BHC b. ASBR Technology
c. TCDD ¢. AMBR Technology
d. Toxaphene d. EGSB reactor §
51. | The bond order for superoxide ion is 52, Heats of Hydration for Li*, Na ,K' Rb
and Cs" follow the order
a. 2
b. 2.5 Li* > Na* >K- >Rb* >Cs
c. | Cs" > Rb* K- >Na* >Li*
d 15

SEMINAR LIBRAR)
Qeptt. of Chemistsy
AMU, Aligark

o¢
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737 [ The wave func

| hydrogen atom in the low
|

cst ehergy state

( 1.—, proportional to €' °° (where a, is
| constant and 1 15 the distance from the
! nucleus. the probability of finding the
| :cle(‘;tron mside a region of volume 1.00
i pm located at the nucleus is

a. Zero
b Infinity
1.00 pm”

\ d. Indeterminate

|
‘! c
|
\

| A Tinear rotor is a rigid rotor with

of an electron of [ 32

Spectr

0SCOpic transitions ar i
s e changes in
populallon.s of quantized energy legvcls
of system involving-
The absorption issi
g and emissiol
radiation nof
- The absorption and the scattering of
clectromagnetic radiation
- The emission and the scattering of
electromagnetic radiation
- The absorption, the emission and the

scattering of electromagnetic
radiation

Three equal inoment of inertia

Two equal moment of inertia

One moment of inertia equal to zero
One moment of inertia not equal to
zero

l
|

|34 A Hamiltonian operator is

The sum of kinetic and potential
energy operators

b. The sum of position and potential
energy operators

c. The sum of momentum and kinetic
energy operators

d. The sum of position and kinetic

| energy operators

l

35 | Given that the standard potential of the
Cu**/Cu and Cu*/Cu couples are + 0.340
V and + 0.522 V, respectively. The
i standard potential of the Cu**/Cu” couple
is

|
a +01R2V
\ b. +0.158V
\ c. +0862V
d. -0.182V

at 100 kPa expands reversibly and
isothermally to twice its initial volume
the final pressure is

a. 32kPa
b. 50 kPa
c. 200 kPa
d. 132 kPa

The temperature at which the vapour
pressure of a liquid is equal to the
external pressure is called the

a. Boiling temperature

b. Normal boiling point

¢. Standard boiling point

d. Critical temperature

When a sample of argen, for which r=5/3 | 38

The expression used to establish criteria
for spontaneous change is
a. (ds)u,v2o0andA S, >0
(ds)u,v 20and A Sk < 0
c. (ds)s,v<oand ASw >0
d. (dsy,vzo,(ds)s,yso and A Sy > 0

The vapour pressure of 0.500 M
2queous KNO; solution at 100 °Cis
59.95 kPa, so the activity of water in the
solution at this temperature is(1
atm=101.325 kPa)

a. 0.4998

b. 0.9864

c. 0.5050

d. 0.500 _

The critical pressure, critical volume
and critical temperature )of methane are
45.6 atm, 98.7 cm’ mol”! and 190.6 K,I
respectively. The radius of the molecule
is

a 024x107m
b 024x10%m
C.
d

C024x 10“9°m
" p24x10°m

[y

-
19. Glyccroll on heating with anhaydrous 20. | Which sne of the following Is most 7
ZnCl, gives: | basic?
a." Ethytenre oxide a  m-Nitroaniline |
b. Acetaldehyde b. o-Nitroaniline {
c. Bthanol ¢. p-Nitroaniline |
d._1,4-Dioxane d.2,4-Dinitroaniline |
21. | For a zero-order reaction A —* 22 If for a -eaction the plot of In k versus !
: Products, t % is proportional to \/T gives a straight line, then i
¢ (A a. E,=-(slope) xR
& o A h. E,=(slope) xR ‘
L C. Ea=-(slope) /R k
(A N (L_Jl d. E, =R/(slope)
23. | What is the value of Jm for a rigid 24, Raman ~ffect is l
diatomic molecule for which at 300 K, a. Absorption of light
the rotational constant is 1.566 cm™ b. Emission of light
a. 8 €. Elastic scattering of light
b. 7 d. Inelastic scattering of light
c. 9
d. 6
25. | A microscope using suitable photons is | 26. The energy of an electromagnetic
employed to locate an electron in an atom radiation of wave length 252.7 nm is:
within a distance of 0.1 A’ what is the (Plank’s constant = 6.626x107* Js)
uncertainty involued in the a 4719k
of its velocity? (Mass of electron = b. 270.2kJ
9.1x10*" kg, Plank’s constant = ¢ 4719]
6.626x10™ Js) d. 27021
a. 0.579x 10" ms’
b. 5.79x 10" ms"
c. 0.579x 10" ems”
| d. 579x10"cms’ _
27. | Which of the following functions are 28 A particie of mass ‘m’ 15 f:onstr}med to
eigen function of the operator d¥dx: move in an infinite one-dimensional box
of width *I". In units of
LY
k"z ( o ' the energy change involved in
a. 3 the transition n=4 —*n=3is
ax: a 1/8
b. eih b 78
& © [
d. xsinx PR —
29 |If $(@)=Nexp(im D) 0<@<2n, 30 A particle of mass ‘m’ is confined ina

to.

a m N
b. (x n
¢ (um)'”?
d. (12n)'"?

then the normalization constant is equal

one-dimensional box of length I’ _the
probability of finding the particle in the
region 0 S xS L2 is .

a

b. 1
c 32
d. 52

-
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£ e the van Deemter equation. Plot HETP against the velocity of carrier gas and explain, lvrielly.
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1. This booklet contains two sections. Section A ccntains 70 objective type questions
each of 2 marks and Section B contains 10 short answer type questions each of
6 marks.

2. Candidate should choose the most appropriate answer out of four options given with
each question in Section A and mark it on OMR shcet using Blue/Black ball peint pen.

3. Negative Marking: Incorrect answers shall result in a negative score of 25 percent of
the marks allotted to the question.

4. Candidate should write the answer of each question in Section B using ball point pen
in the answer sheet provided to them. Answer of each question should be on separate
page mentioning clearly-Question Number.

5. Any rough work if required can be done in the blank space available in the question
booklet.
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I5. The_most reactive substrate towards Br in
presence of FeBr is:

6me NO,
@ (‘ ) *mj}

(g ,__. Noclanphdte
> F'p

R 3

16.

The follawing proton NMR&M:M of an
Organic compound:
57.2 (5H, Singlet)
623 (2H, triplet)
8 1.3 (2H, multiplet)
§0.9 (3H, triplet)

indicates that the compound is —

CHy
OH CH,CD,CH,
Oy
N\~ CH2CHCH, CHaCHZ0CH;
@ (d) 5
A

17. When butamide is heated with Brz in alkali it
gives:

(a) CH3CH,CH,Br
(b) CH3CH,NH,

#(c) CH3CH,CH,COGH
(d) CH3CH,CH,NH,

Chy Cy~ca, (B, + L/f"—")

18.

Wh:ch of the following compound will react

wi esium bromide}to gwe 24-
demethy] pentap-2-oljon hydrolysis:
c—'C - < ohj

Me copr o L—E,—r——
(a)ox S I

CHy” “CH,
co,nN, g

o - o
©) CHycHCH @ cHyCocH,

particle of mass ‘m’ confined ina
one dimensignal box of ! _box of length L.
The probability of finding the particle
in the region
0<x=sL2is

(a0
() 1
(c) 172
(d) 174

20.

The number ofLan_gm/@ rotational and|
vibrational degrees o dom in CCls molecule

are respectively

(a) 3,2,10
(b) 3,3,9
1,1,13 ZZ
@) 3,102 Ty

21. The degree of ionization of HF in 0.1 m
aqueous solution ls (Freezing point "of the
solution = -0.197 °C and K for water =

186°C) —
.
(a) 3% o
(b) 6%
Xe) 9% s
( (d) 12% £r

L

22,

Compound A decomposes to form B and C, the
reaction is first-order. At 25 °C the ‘rate constant
for r.be reaction is 0.450 sec”. The ha]f life of A

at25°Cis
4697 _ |

(a) 0.77 sec
Ray. 1.54 sec
(c) 3.08 sec
(d) 4.62 sec

4

(’ T w Y-

of zinc electrode in 0.01 M ZnSO; solution at
25 E 20763 V)

(a) 0.8221V
(b) -0.8221 V
(©) 0.7039 V
(d) -0.7039 v

23. What is the potential of a half-cell consisting(24. A gas would shmmxmmm devmm

ideal gas behaviour st

(a) 150°C 2 atm
(b) 0'C. 2 atm
(L) l(i(l( Zatm

TRN-100°C 4 aim

thermodynemics is

@ AE=q-w
£ AE = 0 for a cyclic process
& AE = q for an isochoric process

~&RAll of these

25. The mathematical relation for the first-law of |26.

The value ol commutator | x, d/dx|1s

(a) x
(b) d/dx
(c) -1
(d) +1

27JFor a m of length a, in’28. The J=43 wransition for a diatomic molecul
statignary  state _n=2 the approximate occurs at 0.50 cm™. Assuming a rigid rotator th
probablhty of fndmg the Qamcle_xmlhu wavenumber for the J = 7— 6 transition is
cexula]_nn&@rd region will be
(a) 0.88 cm™
(a) 0.4 r; () 0.28 cm™
(b) 0.2 ‘g (c) 0.75cm™
(c) 03 - d) 1.0cm”
(d) 0.1

29. The mobll;ry of chloride i mn in waler at @

25°C is 7.91 x 10* cm® S V"', How much
time will 1t take for tic jon to lravel between
two electrodes separatcd by 4.0 cm if the
electric field is 20 V em™!

(a) 2.5 min
(b) 1.4 min
(c) 4.2 min
(d) 84.28 min

) The Joule-Thomson expansion of 2 real o

. &
occurs with

(@) AU=0& AH#0
(b) AUZ0& AH=0
(c) AU=0& AH=0
(d)AU#0& AH %0

31. For prcpanonc acid, value of Ka is 32.
134 x 10° M at 25 °C. The pH for 0.01 M
solution of the acid will be

() 3.44
(b) 12
(c) 4.44
d?2

For weak electrolyte, straight line is obtained 1
B e

graph of:
A\

—

%) A vs VC
Am Vs 1NC
2, .0 U —~
R A
i (A

Am)vs NC z

(33 The unit of Michaelis Menton constant, |34.
K. of enzyme catalysis is: -
“@ Mol L
(b) Mol L
(¢) Mol’L"
(d) Mol L?

A fpon-ideal mixurel of component A and |
shows positive deviation from Raoult’s law.
implies that

(a) Dissolution is endothermic
Dissolution 1s exothennic

(€) AHpw =0

(d) Both A and B

> T 1

A+R
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The following system is in equilibrium
CaCOn(s) == CaO(s) + COy(g)

-
5

3

The number of component (C), Phases (P),

el Depre

| e L@y
| ] ; 2@5/

ol freeds .m(gr-_;}‘ respectively are

6. A
arti -
particular chemical reaction has a negative

AH and a negatj "
correct. Bative AS. Which statement is

) The reaction IS spontaneous at all
lemperatures

(b) The reaction is non spontaneous at all
temperatures

(c) The reaction becomes spontaneous as
temperature increases
(d) Thg reaction  becomes spontancous as
o ¢

E If the half life of a reaction is constant for a zero ord.
37.0f 2 f independent of{38. The unit of rate

] concentration. the reaction can be
I First order
IT. Second order
II1. Third order

(a) I & 11 only

(b) I & III only
I only

(d) IT only

reaction is

s’
(®) L mol*'s™
(s =
(d) mol L''s”!

39. Which one of the following is used as visual|40. A sample of a copper_(II) sulphate sclution

indicator in the Mohr precipitation titration

|

]{ “a) Silver ions

l (b) Chioride ions

‘ (¢) Thiocyanate ion

% Chromate ion

gives absorbance of 0.46 in a 1.0 cm cell. Using
the same cell a 0.055M solution of coppe:’ (II)
suphate gives an absorbauce of 0.34. The
concentration of copper (II) solution in the
given samples is:

6

43. An acid HA (K, =1.0 x 107) has al44.
distribution coefficient of 10.0 between an

oignhic solvent and water. The distribufion
ratio of acid HA (organic/water) at pH 3.0
would be:

(a) 10.00
(b) 9.09
(c) 1111
(d) 5.00

the pol

Which one of the following 1s used to cross finf
lucose chain for obtaining the packin
for GFC.

materia

(a) Styrene

(b) ivinylbenzene

(c) M.N'-methylenebisacrylamide
(d) Lpichlorohydnn

50.0 mL of a solution which is 0.01 M in[46.
Ca® and buffered at pH 10 is titrated with
0.01 M EDTA solution. The value of Keq for
the reaction:

Ca** +Y*

is 1.8 x 10"°. The concentration of Ca®" at the,
equivalence point is:

4

b

Cay*

(a) 5.27x 107 M
() 277x 107 M
(¢) 527x10"°M
(d) 2.77x 10°M

Which onc of the following is used as indicatc
in the titration of gilver jon with a standas
solution »f thiocyanate ion?

(a) Fe'*
=) Cr0,>

(c) Fluorescein

(d) Methyl orange

(a) 0.074 M
() 035 M

(c) 0.041 M

(d) 8.60 x 10° M

to which term of the Van Deemter equation

(a) CoefTicient of longitudinal diffusion
(b) Longitudinal diffusion

(c) Eddy diffusion

(d) Mass transfer coefficient

41. Multiple flow paths of the solute contributes|42.

If the stationary phase is of non—polar.x | rature
and mobile phase is polar, this «/pe” Of|

chromatography is
Ry Normal phase chromatography

__ (b) Reverse phase chromatography
) Gradient elution chromatography

(d) Gel permeation chromatography

47. The transmittance of a solution was found to|48.
be 10% when raeasured at 455 nm in a 1.00
cia cell. The absorbance of this oclution at
455 nm in a cell with path length of 2.0 mm

In a chromatographic analysis of leman oil,
peak for limonene has a retention time of

10.0 min with a baseline width of 0.70 min.
Y-Terpinene elutes at 10.9 min with a baselir
width of 0.80 min. The resolution between t

49. Which of the following statements is|50.

incorrect regarding HSAB concept?

(a) hard - hard interactions are electrostatic
&) soft-soft interactions are covalent
(c) Agly is stable while AgF;"is unstable
(d) [CoQNH,)sF]?" is unstable while
[Co(NH); I* is stable

would be:
two peaks is:
() 0.1
(b) 02 () 1.20
(©) 20 () 110
(0.5 © 106
(d) 1.30
Among Pr’*, Sm™, Dy’ and Yb™ ions, whic

oce would be eluted first in ion exchang
chromatography

@ P
(b) Sm™
(¢) Dy
(d) Yb'*

Which of the following pairs involves ligand

(d) Me,Si

1) The cross linking unit used in designing of\S})
Silicones is
(2) Me;SiCly
(b) MeSiCly
(¢) MesSiCl

metal charge transfer (LMCT)

() [Fe(CN)g)" and [MnO4]’
(b) [Fe(CN)g)" and [h{gF)‘]
(c) [MnO4 and IrBr]

(d) [CH(COY) and [MnOa]"
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53. Correet order of Lewis d
boron trihalides is

o Uch ‘one of the following complexes is
ron trihalides is — MH[\NQ@  optically acive;
sl

1{:& By >BCl>BBr,
() BF, >BBry>BC,
(©) BCL >BF >BB,

iy BBr, ~BCl>BF,

5) lonic radii of high spin_Fi‘ in hemoglobin is
(a) 78 (pm)

(b) 61 (pm)

(¢) 69 (pm)

(d) 65 (pm)

57. The complex will hoyw maximum crys
field spletiing is F 7\‘ )
'

(a) [Co(H,0)q*
(b) [Co(H0)™
() th(Hzom;'
(d) [Fe(H,0))*"

59. High spin d° complex is

(a) [Co(H,0)¢)**
(b) [CoF,)*"

(c) [Fe(CN)e™
(d) (Ni(NHy)e)>

1

of{54. Which

(a) [Co(NH;),Cly]
(b) [Co(NH,),CLy)
(c) cis-[Co(en),Cl)
Rl trans-[Co(en),Cly)

S6. Na'/K' ATPASE Transports

& 3Na’ out of cell and 2K*,into the cell
(b) 3Na" out of cell and 3K into the cel)
(€) 2Na’ out of cell and 3K* into the cell
(d) 3Na" out of cell and 5K* into the cell

Coloured nature of [Ti(H,0)¢}"" is due to

(a) H,0 ligands

(b) Charge Transfer

(c) Intramolecular Vibrations
(d) *T2g —?Eg transition

60. _Four units oi.h:mnm;nevh;ld together by
(a) Covalent bonds
(b) Salt bridge only
@) Hydrogen bond only
ydrogen bond and salt bridge both

61. False statement about crystal field theory is

(a) It considers ligand as point charge

(b) It does not consider covalent bonding
between metal and licand orbitals

(c) It gives accurate explanation about
charge transfer bond

(d) It considers repulsion between metal and
ligand electrons

63. A substance  behaves like

62. Decreasing order of energy of term symbols is

(a)'S>'D>'G>%p>IF
() 'G>'D>'s>ps>
(©)'s>'D>'G>F>p
(d)°P>’F>'S>'D>'G

simple
paramagnetic above Neil_Temperature bu]
maghetic moment decreases belgw. it. The
substance can be

(a) Ferromagnetic
(b) Diamagnetic
(c) Super magnetic

64. The electronic transition

(d) Anti ferromagnetic

e NV 23
) 287eg
is
(a) Laport forbidden
(b) Spin forbidden

(c) Laport and spin forbidden both
(d) Charge transfer

8

65. Which one of the following has C—C bond

69. Sanger’s reagent is

66. Correct relationship for magnetic !iuscg;l,t;ﬂ
is |
lnghlrgest o Bbiet
P =H-anl
it [ (:) 2 |l~f ol : 21
(0) [CLPCMey) _—< (d) BIH = 1-drl
\@:{Cl]PlCz(CN)h{/ N (d)
(d} [ClPLC3(CN);Hy) R
67. A strong field octahedral complex has CFSE|68. Trouton's Constant for a normal liquid 15
of -18Dq+3P. This is a case of a) 28
b) 21.5
(a) d° configuration (b)

80
(b) d" configuration 83 78
(c) d&* configuration
(d) d’ configuration

70 Which one of the following is a natural dye
(a) 2,4-Diniu-oﬂnu.rpbcn_.zenc(K
(b) Phenylisothiocyanate .
) 2,4:Dinitrophenyl hydrazine
d) Ninhydrin

(a) Methyl orange
(b) Alizarin

R Malachite green
(d) Martius yellow
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Section B

1. 30 mL of an aqueous solution of 0.20 M butyric acid is shaken with 20 mL ether. After the

layers are separated it is determined by titration that, 0.4 moles of butyric acid remains in

the aqueous layer. Calculate the distribution ratio and the percent extraction.
2. Explain Dewar and coworkers theory of bonding in phosphazene complexes
3. How myoglobine binds with 057 Prove the relation

_ KP©
1+ Kp=

4.

~ Show crystal field splitting picture of [Ni(CN)4]2-and [Ni(NH3)s Cl2} and label the orbitals.

kb(?ﬂ ucleophilic substitution occurs readily in alkyl halides, where

s.in alcohols it occurs
in presence of strong acids as catalysts. Explain. @ ﬁ_:?)
~

1]
‘*\(bl What is the difference between epimers and anomers? Explain with examples.

\ Pyridine, being aromatic like benzene, can under
benzene cannot. Explain.

hilic substitution Jeasily while

7. Indicate what 'H NMR spectra would you exp
(i) n-Propylbenzene ~ e
(ii) n-Butane S S

(iii) neo-pentane

the following compounds:

\\8\ Calculate the coefficients of sp2-hybrid orbitals.
9. Normalize the wave function:
W =N exp (idp) where 0< <2 n

10. The force constant of H!F molecule is 970 N/m. Calculate the fundamental vibration al
frequency and zero-point energy.
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v i Rl o | - ' et ol s and 1 po wives 3 wl e ellowing,
e can b praduced by Ju D number ol isemers produced by peantn b vk and fats with potish give 2 :u b e ol ey
. o arenati ol Coenand rcazer i wi
IR IREIENEE | "“)"‘“‘_‘ M""‘“‘i—" complex ol the el ] Sl ot dificult
ST ; Al van e given s ] g T IR TR RIIRIR ] T
o nteny L l ! IR IR O Rt ) |
G e b ('I" i Gl detenent | () CH=CH=C -l |
1 Pt i (o) CHL = = i
(c) 6 |
| i e B Wh None . o !
< MW ik one o Colollowing . ) === am s CH--CL
Tt H¢ {the 1ollowmg molecules has three-[ 16 Which one of the following statement th il
St clecion (WC-2e) 6 ine ? 3. s . . .
' c) o bonding ? ahout ' is not true? Wl hodihe Tollowing is most acidic ! 24, Which ol the lollowmng s the major
el N product when quinoime 1 treated with
(hy Nel () e is proportional to cleciron . @0“ B . 11:S04.S05 at 100 °C
el density !
: N 2 . " JINI
TR (b) w®  may be positive, negative or R /Yx\ n
imaginary v “h * \‘/J\\VL o
(¢) It w? is high the probability ofl
finding the electron is high (o @—g_u
(d)y yap'is used for W 1o avoid : “”"‘\(I\] i "]
imaginary value. N A 15 A o
(1) o~ _)-o-4 ’ T
17 W1 ol e followi A - o — - e — e
7 sl one of  the  following  expression|18. Aufbau rules for electronic configuration < Stong esidation ol glucose wi ric acid gives |26, In Shechan method for the synthesis of|
Conresponds 1 the Roschow electronegativitiy of elements is not violated in polypeptides  from ~amino acid.  the
s wale? . )
* o Glueonie acid . aminogroup is protected by -
(2) Main group elements e Oxalic acid .
|1 (h) d-hlock clements 11 Gl acid (a) henzyloxycarbony! group
tn V15 (¢) Lanthenides b Lo acid (b sulphonyl sroup
(d) Actinides (¢} phthalyl group
' l “ (d) t-butexy azidoformate zroup
i thy noisu Lo +0.744 N
: 28. Which® of the following  acids
| / _ o decraboxylates on heating ?
i (RS LAN 1) 744 )
H ' A . expected o give in its TINMR spectaim . .
! () Succinic acid
/ . . (b) Malonic acid
th l i o0 744 sl s ‘I(unlwycx.slnglclnnd singlet (¢) Phihalic acid
(1 botl s singlets (d) Malcic acid
N nals ais singlet and quartel
o uly four sipy i o vinglets | as quartel -
I " tslasquantet |yl e e
— i attict . i N |
P19 Scleet correet order ol clectronegativity of|20. The compound having maximum Latlice Ihe Tollowing reancti 30. I"I”;?; cllmuu: s ":,“;Z‘LZ.“"JE.":TTF’E“;
(gy is N WSO 1 Eas i b
L clemens t enerey e followine compounds is farined when s
\ Lif o n e o s s Ireated with Brs in CCLi 7
¢ (s O N (@) L1 e ahen ¥ i
(b) NaF | i tatest glen Vs
b (tysiop ¢ N F . ¥ (a) I-Bromo-2 - hlorocthane
S| tosier CoN @ xr i (b) 1,2-Dibromocthanc
Clasiepeco N ) CsF \ ORNTS (©) 1.1.2,2-Tetrabromosthure \
. 1 wrOc (d) Bromoethanc
i o 5
[ ehracocan. .
! !
|
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1 IR 1)

bl e

NN TR TR IR o)

Chor e e e cin e mt
o b e e tanecment

s Pl re nraneement

|
{
i
I

1

P-tvroxsvcarbony|

Compodd 5
obtained by the action of NaO1 ] o
P
FON X
Wy {\ ’\ (i !
S Y ;
l
) (/ ‘\> ChiO
At
(v I

S
|
('I/\\('II()
1

Chemtranon ot andine with armixture of nitric acid|3
nilalphane aced the major product is

b e=Natroaniline
ch =N urani o
Co) peNatroantine '

v None ol these

I he lnllu\\mg reaclion raﬂow

MH,

ot SO mechanism
th SO echannsm
too FAnunation - addition mechanism

v Sormechanism

Fhwe combusiion of one mole of propane produces
P many noles of H,00?

) )
v 3
e

U

wuh

40

of  2-butyne

FIvdeobaosition oxidation
B0 - and alkali provides

il

«by Hutiunone !
a0 2 lulinal

&) | -Hunnod

“a,

36.

38.

The reaction which is used 10 prepare a
B-Ketoester from ethyl acctate is known
as

(a) Michel addition

(b) Cannizzaro reaction

(¢) Claisen-Schmidl reaction

(d)( Iasm.n Londens.umn

How many isomeric aromatic
hydrocarbons arc possible for Cyl l).

{a) 3
(b) 4
(c) 5
(d) 6

Enantiomers have

(a) differcnt physical propertics

(b) identical biolegical propertics
(¢) identical chemical properties
(d) different chemical propertics

Ihc KIS notation (o chlr.ll carbon ( 2
and C-3 in the foliowing structurc will
oe
ci,
-1 i
Cl—|--1
Call

(a) 2538
(b) 2R3R
(c) 253k
(d) 2R3S
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Jibacuk number of photons

| Foanta s rauna omn

CUU L a0e 1 Ci(p)

UL () .l(;,(-,)

() I s AN ()

I e e e RIS
s bt the cnerey associated awith
Voo v loo

P ‘p}, T

Sy ombor ol r_-hulr\ns

S Waner carrying impurities is purified by addition of]

potash atum AL of the potash alum causes:

Car peptisation ol negatively charged turbidity
(b) coagulation o acpatively charged turbidity
) peplisation of positively charged turbidity
(dy coaculation of positively charge wrbidity.

o4 The Tollowing graph

(v \{&-\\(/

-7

2 What Tunction ol [N ploted

I
tme, wall cive stineht Jine

lor o
seeond-order reacttont— ———— - ~-—I——*—-~— —

(a) [A]
() [AV
() log |A]

Represents the variation of
compressibility factor, 7, versus 1P [or
three real gases A. B and C. Identify the
INCOrrect answer:

(a) For the gas A, a = 0 and ils
deonendence on P is lincar at all
pressure.

(b) For the gas B. b 0 and s
dependence on P s linear at all
pressure.

(c) For the gas C. ncighter a nor b is
zero, By knowing the minima and
point of intersection, with Z-=1, a
. and k can be calculatcd.

(d) At high pressure.  the  slope is

positive for all real gascs.

S6. Lyophilic sols are:

(a) irreversible sols .

(b} they are preparcd from inorganic
compounds

(c) coagulated by adding clectrolytes

(d) selfl - stabilizing
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! he alvundang

IO use vy

14 0.03 ppen
h) 047 pphr
174 PN
1§ prin

N H (ol
PIERICCE Sement oy helon. Wier 5q) 0 Il otan igucons solution ol —
et -L—“"ILU'("L'““"‘ ALU-:—.\lH-Hf-trmnmtmlui He
o is shaken with 30, ml ol cther | 99.0% |
Crechave definitve vilue ! of the o exiracied. Whan s ”'\.";
e have an ARSIEnable cauye distribution ranipn
s e ol the syme Sign mul’
(ay Oy
Mty llecied by (he svstemiatie (h) 1u.0
(c) V9.0
(d) 19
TN OAY Spectrophotometer A made(68, A cepain solution absorbs 9(y, ol tiwe
incident raciation in | .0) ¢y cell ar 5|0
T What s (ke absorbance ol (hijy
; solution
i (@) 0.90
: (b) 0.10
y i ) 1.0
4 i (d) 0.8
"_*ﬁ.(—,—- T T —..\_. T e e |
ol lmpe?ﬁhffl’?c' O;L.j-a.sj_-onc ol Ihc_-'m The ftumerical  valye iy decimal
~ s 5 e o ; numbering  s¢siem ol e lollowing
I binary number IO will be
. (a) I3
(b) 22
(c) 1
' (d) 110
—_—— Tl — e
12%0rs, AR nn ARy
L-.,j,;;l. ol g ¥
A VU_ Al_'fm ".L
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